

§ 5.27: 1, 3

1. $u'' - u = f(x) \quad x > 0$

$u(x) = \int_a^x R(x, \xi) f(\xi) d\xi$

$u(0) = u'(0) = 0$

$a = 0$

$R(x, \xi) = \frac{1}{PW} [v_2(x)v_1(\xi) - v_1(x)v_2(\xi)]$

$v'' - v = 0 \Rightarrow v = \{e^x, e^{-x}\} \quad v_1 = e^x \quad v_2 = e^{-x} \quad v_1' = e^x \quad v_2' = -e^{-x}$

$W = \begin{vmatrix} v_1 & v_2 \\ v_1' & v_2' \end{vmatrix} = v_1 v_2' - v_2 v_1' = -e^x e^{-x} - e^{-x} e^x = -2 \quad \text{pt} \Rightarrow PW = 2$

$R = \frac{1}{2} [e^x e^{-\xi} - e^{-x} e^{\xi}] = \frac{1}{2} [e^{x-\xi} - e^{-(x-\xi)}] = \sinh(x-\xi)$

$u(x) = \int_0^x \sinh(x-\xi) f(\xi) d\xi$

3. $u'' + u' - 2u = e^x F \quad x > 0$

$a = 1$

$p = e^{\int \frac{1}{\xi} d\xi} = e^{\xi}$

$u(0) = 1$

$b = 1$

$q = \frac{c}{a} p = -2e^{\xi}$

$u'(0) = 0$

$c = -2$

$f = \frac{F}{a} p = e^{2\xi}$

$(e^x v')' - 2e^x v = e^{2x}$

$v' + v' - 2v = 0$

$R = c_1 e^{-2x} + c_2 e^x$

$r^2 + r - 2 = 0 \quad r = -2, 1$

$v = \text{span}\{e^{-2x}, e^x\}$

$R(\xi, \xi) = 0 \Rightarrow c_1 e^{-2\xi} + c_2 e^{\xi} = 0 \Rightarrow c_2 = -c_1 e^{-3\xi}$

$R_x(\xi, \xi) = \frac{1}{PW} \Rightarrow -2c_1 e^{-2\xi} + c_2 e^{\xi} = e^{-\xi} \Rightarrow -2c_1 e^{-2\xi} - c_1 e^{-2\xi} = e^{-\xi}$
 $= -3c_1 e^{-2\xi} = e^{-\xi} \Rightarrow c_1 = \frac{-e^{\xi}}{3} \quad c_2 = \frac{e^{-2\xi}}{3}$

$R = \frac{-e^{\xi-2x}}{3} + \frac{e^{2\xi+x}}{3}$

$u(x) = \int_0^x R(x, \xi) f(\xi) d\xi + c_1 \cosh(x)$

$u(0) = 1 = 0 + c_1$

$u_h'' + u_h' + 2u_h = 0$

$u(x) = \int_0^x R(x, \xi) f(\xi) d\xi$

$u_h(0) = 1$

$= \frac{1}{3} \int_0^x -e^{(\xi-2x)} \cdot e^{2\xi} + e^{-2\xi+x} \cdot e^{2\xi} d\xi$

$u_h'(0) = 0$

$= \frac{1}{3} \int_0^x -e^{3\xi-2x} + e^x d\xi$

$u_h = c_1 e^{-2x} + c_2 e^x$

$= \frac{1}{3} \left[\frac{1}{3} e^{3\xi-2x} + e^x \xi \right]_0^x$

$u_h' = -2c_1 e^{-2x} + c_2 e^x$

$= \frac{1}{9} e^{-2x} - \frac{1}{9} e^x + \frac{1}{3} x e^x$

$c_1 + c_2 = 1 \Rightarrow c_2 = 1 - c_1$

$-2c_1 + c_2 = 0 \Rightarrow -2c_1 + 1 - c_1 = 0$

$3c_1 = 1 \quad c_1 = \frac{1}{3}$

$c_2 = \frac{2}{3}$

$u(x) = \frac{1}{9} e^{-2x} - \frac{1}{9} e^x + \frac{1}{3} x e^x - \frac{1}{3} e^{-2x} + \frac{2}{3} e^x$

$= \frac{4}{9} e^{-2x} + \frac{5}{9} e^x + \frac{1}{3} x e^x$

$u(x) = \frac{1}{3} \left(x + \frac{5}{3}\right) e^x + \frac{4}{9} e^{-2x}$

§ 5, 28: 1, 2

1. $u'' - u = -f(x) \quad 0 < x < 1$
 $u(0) = u(1) = 0$

$$u(x) = \int_0^1 G(x, \xi) f(\xi) d\xi$$

$$G'' - G = 0 \Rightarrow G = \text{span} \{ \sinh x, \cosh x \}$$

$$G_1 = C_1 \sinh(x) \quad x < \xi \quad p=1 \Rightarrow \partial_x G_1|_{x=\xi} = \partial_x G_2|_{x=\xi} + 1$$

$$G_2 = C_2 \sinh(x-1) \quad x > \xi \quad C_1 \cosh(\xi) = C_2 \cosh(\xi-1) + 1$$

$$G_1(\xi, \xi) = G_2(\xi, \xi) \quad C_1 \sinh(\xi) = C_2 \sinh(\xi-1)$$

$$\begin{bmatrix} \cosh \xi & -\cosh(\xi-1) \\ \sinh \xi & -\sinh(\xi-1) \end{bmatrix} \begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$$

$$\Rightarrow \begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \frac{1}{-\cosh \xi \sinh(\xi-1) + \sinh \xi \cosh(\xi-1)} \begin{bmatrix} -\sinh(\xi-1) \\ -\sinh(\xi) \end{bmatrix} = \frac{1}{\sinh(1)} \begin{bmatrix} -\sinh(\xi-1) \\ -\sinh(\xi) \end{bmatrix}$$

$$u(x) = \frac{1}{\sinh(1)} \left[\sinh(x) \int_x^1 \sinh(1-\xi) f(\xi) d\xi + \sinh(1-x) \int_0^x \sinh(\xi) f(\xi) d\xi \right]$$

2. $u'' - u = -f(x) \quad 0 < x < 1$
 $u'(0) = u'(1) = 0$

$$u(x) = \int_0^1 G(x, \xi) f(\xi) d\xi$$

$$G'' - G = 0 \quad G = \text{span} \{ \sinh x, \cosh x \}$$

$$G_1 = C_1 \cosh x \quad x < \xi \quad p=1 \Rightarrow \partial_x G_1|_{x=\xi} = \partial_x G_2|_{x=\xi} + 1$$

$$G_2 = C_2 \cosh(x-1) \quad x > \xi \quad C_1 \sinh(\xi) = C_2 \sinh(\xi-1) + 1$$

$$G_1(\xi, \xi) = G_2(\xi, \xi) \quad C_1 \cosh(\xi) = C_2 \cosh(\xi-1)$$

$$\begin{bmatrix} \sinh(\xi) & -\sinh(\xi-1) \\ \cosh(\xi) & -\cosh(\xi-1) \end{bmatrix} \begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$$

$$\Rightarrow \begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \frac{1}{-\sinh \xi \cosh(\xi-1) + \cosh(\xi) \sinh(\xi-1)} \begin{bmatrix} -\cosh(\xi-1) \\ -\cosh(\xi) \end{bmatrix} = \frac{1}{\sinh(1)} \begin{bmatrix} \cosh(\xi-1) \\ \cosh(\xi) \end{bmatrix}$$

$$u(x) = \frac{1}{\sinh(1)} \left[\cosh(x) \int_x^1 \cosh(1-\xi) f(\xi) d\xi + \cosh(1-x) \int_0^x \cosh(\xi) f(\xi) d\xi \right]$$

§ 5.29: 1, 2, 4, 7

1. $\Delta u = -y(y-1)\sin^3 x \quad 0 < x < \pi \quad 0 < y < 1$

$u(x, 0) = u(x, 1) = u(0, y) = u(\pi, y) = 0$

$F(x, y) = y(y-1) \left[\frac{3}{4} \sin x - \frac{1}{4} \sin 3x \right] = \frac{A_0}{2} + \sum A_n \cos nx + \sum B_n \sin nx$
 $B_n = 0$ for $n \neq 1, 3, \quad B_1 = \frac{3}{4} y(y-1) \quad B_3 = -\frac{1}{4} y(y-1) \quad A_n = 0, A_0 = 0$

$u(x, y) \sim \frac{a_0(y)}{2} + \sum a_n(y) \cos nx + \sum b_n(y) \sin nx$
 $(\partial_x^2 + \partial_y^2) u \sim \sum_{n=1}^{\infty} (-n^2 b_n(y) + b_n''(y)) \sin nx = \sum -B_n(y) \sin nx$
 $\begin{cases} b_n'' - b_n = -\frac{3}{4} y(y-1) \\ b_1(0) = b_1(1) = 0 \end{cases} \quad \begin{cases} b_3'' - 9b_3 = \frac{1}{4} y(y-1) \\ b_3(0) = b_3(1) = 0 \end{cases}$

$n=1: G'' - G = 0 \quad G = \text{span} \{ \sinh y, \cosh y \}$

$G_1 = C_1 \sinh y \quad x < \xi \quad p=1 \Rightarrow \partial_y G_1|_{y=\xi} = \partial_y G_2|_{y=\xi} + 1$
 $G_2 = C_2 \sinh(y-1) \quad x > \xi \quad C_1 \cosh \xi - C_2 \cosh(\xi-1) = 1$

$G_1(\xi, \xi) = G_2(\xi, \xi) \quad C_1 \sinh \xi - C_2 \sinh(\xi-1) = 0$

$\begin{bmatrix} \cosh \xi & -\cosh(\xi-1) \\ \sinh \xi & -\sinh(\xi-1) \end{bmatrix} \begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix} \Rightarrow \begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \frac{1}{\sinh 1} \begin{bmatrix} \sinh(1-\xi) \\ -\sinh(\xi) \end{bmatrix}$

$b_1 = \frac{-3/4}{\sinh 1} \left[\sinh y \int_y^1 \sinh(\xi-1) (\xi^2 - \xi) d\xi + \sinh(y-1) \int_0^y \sinh(\xi) (\xi^2 - \xi) d\xi \right]$
 $= \frac{-3/4}{\sinh 1} \left[\sinh y \left[\frac{\xi^3 - \xi^2}{3} \cosh(\xi-1) - (2\xi-1) \sinh(\xi-1) + 2 \cosh(\xi-1) \right]_y^1 \right.$
 $\left. + \sinh(y-1) \left[\frac{\xi^3 - \xi^2}{3} \cosh \xi - (2\xi-1) \sinh \xi + 2 \cosh \xi \right]_0^y \right]$
 $= \frac{-3}{4 \sinh 1} \left[\sinh y \left[-(y^2-y) \cosh(y-1) - \sinh(y) + (2y-1) \sinh(y-1) + 2 - 2 \cosh(y-1) \right] \right.$
 $\left. + \sinh(y-1) \left[\frac{1}{3} (y^2-y) \cosh y - (2y-1) \sinh y + 2 \cosh y - 2 \right] \right]$
 $= \frac{-3}{4 \sinh 1} \left[(y^2-y) \sinh(1) - 2 \sinh(1) + 2 \sinh y - 2 \sinh(y-1) \right]$
 $b_1 = \frac{3}{4} \left[(y-y^2) + 2 \left(1 - \frac{\cosh(y-1/2)}{\cosh(1/2)} \right) \right]$

$n=3: G'' - 9G = 0 \quad G = \text{span} \{ \sinh 3y, \cosh 3y \}$

$\begin{bmatrix} 3 \cosh \xi & -3 \cosh 3(\xi-1) \\ \sinh 3\xi & -\sinh 3(\xi-1) \end{bmatrix} \begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix} \quad 3C_1 \cosh 3\xi - 3C_2 \cosh 3(\xi-1) = 1$
 $\begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \frac{1}{3 \sinh 3} \begin{bmatrix} +\sinh 3(\xi-1) \\ +\sinh 3\xi \end{bmatrix} \quad C_1 \sinh 3\xi - C_2 \sinh 3(\xi-1) = 0$

$b_3 = \frac{+1}{18 \sinh 3} \left[\sinh 3y \int_y^1 \sinh 3(\xi-1) (\xi^2 - \xi) d\xi + \sinh 3(y-1) \int_0^y \sinh 3\xi (\xi^2 - \xi) d\xi \right]$
 $= \frac{+1}{18 \sinh 3} \left[\sinh 3y \left[\frac{\xi^3 - \xi^2}{3} \cosh 3(\xi-1) - \frac{1}{3} (2\xi-1) \sinh 3(\xi-1) + \frac{2}{27} \cosh 3(\xi-1) \right]_y^1 \right.$
 $\left. + \sinh 3(y-1) \left[\frac{1}{3} (\xi^2 - \xi) \cosh 3\xi - \frac{1}{3} (2\xi-1) \sinh 3\xi + \frac{2}{27} \cosh 3\xi \right]_0^y \right]$
 $= \frac{+1}{18 \sinh 3} \left[\sinh 3y \left[-\frac{1}{3} (y^2-y) \cosh 3(y-1) + \frac{1}{3} (2y-1) \sinh 3(y-1) + \frac{2}{27} - \frac{2}{27} \cosh 3(y-1) \right] \right.$
 $\left. + \sinh 3(y-1) \left[\frac{1}{3} (y^2-y) \cosh 3y - \frac{1}{3} (2y-1) \sinh 3y + \frac{2}{27} \cosh 3y - \frac{2}{27} \right] \right]$
 $= \frac{1}{18 \sinh 3} \left[\frac{1}{3} (y^2-y) \sinh(3) + \frac{2}{27} \sinh(3) + \frac{2}{27} \sinh 3y - \frac{2}{27} \sinh 3(y-1) \right]$
 $b_3 = \frac{-1}{4} \left[\frac{1}{9} (y-y^2) \sinh(3) + \frac{2}{81} \left(1 - \frac{\cosh 3(y-1/2)}{\cosh 3/2} \right) \right]$

$u(x, y) = b_1 \sin x + b_3 \sin 3x$

$$2. \begin{cases} \Delta u = -2 & x^2 + y^2 < R^2 \\ u = 0 & x^2 + y^2 = 1 \end{cases}$$

$$= \begin{cases} u_{rr} + \frac{1}{r} u_r + \frac{1}{r^2} u_{\theta\theta} = -2 & \text{for } r < R \\ u(0) & \text{for } r = R \end{cases}$$

$$= (r u_r)_r + \frac{u_{\theta\theta}}{r} = -2r = F(r, \theta) \cdot r$$

$$F(r, \theta) = \frac{A_0}{2} + \sum A_n \cos n\theta + \sum B_n \sin n\theta \Rightarrow A_n = B_n = 0 \quad A_0 = 4$$

$$u(r, \theta) = \frac{a_0}{2} + \sum_{n=1}^{\infty} a_n(r) \cos n\theta + \sum_{n=1}^{\infty} b_n(r) \sin n\theta$$

$$(r u_r)_r = (r a_0')_r + \sum_{n=1}^{\infty} (r a_n')_r \cos n\theta + \sum_{n=1}^{\infty} (r b_n')_r \sin n\theta$$

$$\frac{1}{r} u_{\theta\theta} = \sum_{n=1}^{\infty} -\frac{n^2}{r} a_n \cos n\theta + \sum_{n=1}^{\infty} -\frac{n^2}{r} b_n \sin n\theta$$

$$L(u) = \frac{(r a_0')_r}{2} + \sum [(r a_n')_r - \frac{n^2 a_n}{r}] \cos n\theta + \sum [(r b_n')_r - \frac{n^2 b_n}{r}] \sin n\theta$$

$$= -\frac{r A_0}{2} = -2r$$

$$(r a_0')_r = -4r \quad a_0(R) = 0$$

$$[(r a_n')_r - \frac{n^2 a_n}{r}] = 0 \quad a_n(R) = 0 \quad a_n(0) \text{ bdd}$$

$$[(r b_n')_r - \frac{n^2 b_n}{r}] = 0 \quad b_n(R) = 0 \quad b_n(0) \text{ bdd}$$

$$\Rightarrow a_n = b_n = 0$$

$$(r a_0')_r = \int_0^r -4r dr = -\frac{4}{2} r^2$$

$$a_0' = -\frac{1}{2} 2r^2$$

$$a_0 = \int_r^R -2r dr = r^2 \Big|_r^R = a^2 - r^2 \quad a_0(R) = 0 \Rightarrow a = R$$

$$u(r, \theta) = \frac{1}{2} [R^2 - r^2]$$

$$4. \nabla^2 u = -F(x, y) \quad 0 < x < \pi \quad 0 < y < A$$

$$u(x, 0) = u(x, A) = u(0, y) = u(\pi, y) = 0$$

$$F(x, y) \sim \sum_{n=1}^{\infty} B_n(y) \sin nx \quad B_n(y) = \frac{2}{\pi} \int_0^{\pi} F(x, y) \sin nx \, dx$$

$$u(x, y) \sim \sum_{n=1}^{\infty} b_n(y) \sin nx$$

$$b_n(0) = b_n(A) = 0$$

$$(\partial_x^2 + \partial_y^2)u \sim \sum_{n=1}^{\infty} (-n^2 b_n + b_n''(y)) \sin nx = -\sum_{n=1}^{\infty} B_n(y) \sin nx$$

$$\Rightarrow \begin{cases} b_n'' - n^2 b_n = -B_n(y) \\ b_n(0) = b_n(A) = 0 \end{cases}$$

$$\Rightarrow b_n = \int_0^A G(y, \xi) B_n(\xi) \, d\xi$$

$$G_n'' - n^2 G_n = 0 \Rightarrow G_n = \text{span} \{ \sinh(ny), \cosh(ny) \}$$

$$G_{n1} = C_1 \sinh(ny) \quad y < \xi \quad G_{n2} = C_2 \sinh(n(y-A)) \quad n > \xi$$

$$\partial_y G_{n1}|_{y=\xi} = \partial_y G_{n2}|_{y=\xi} \Rightarrow n C_1 \cosh(n\xi) - n C_2 \cosh(\xi - A) = 1$$

$$G_1(\xi, \xi) = G_2(\xi, \xi) \Rightarrow C_1 \sinh(n\xi) - C_2 \sinh(\xi - A) = 0$$

$$\begin{bmatrix} n \cosh(n\xi) & -n \cosh(n\xi - A) \\ \sinh(n\xi) & -\sinh(\xi - A) \end{bmatrix} \begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \begin{bmatrix} 1 \\ 0 \end{bmatrix} \Rightarrow \frac{-n \cosh(n\xi) \sinh(\xi - A) + n \cosh(\xi - A) \sinh(n\xi)}{n \sinh(nA)} \begin{bmatrix} -\sinh(n(\xi - A)) \\ -\sinh(n\xi) \end{bmatrix} = \frac{1}{n \sinh(nA)} \begin{bmatrix} -\sinh(n(\xi - A)) \\ \sinh(n\xi) \end{bmatrix}$$

$$b_n = \frac{\sinh(nA - y)}{n \sinh(nA)} \int_0^y \sinh(n\xi) B_n(\xi) \, d\xi - \frac{\sinh(ny)}{n \sinh(nA)} \int_y^A \sinh(n(\xi - A)) B_n(\xi) \, d\xi$$

$$b_n = \frac{2 \sinh(ny)}{\pi n \sinh(nA)} \int_0^y \sinh(n\xi) \int_0^{\pi} F(x, \xi) \sin nx \, dx \, d\xi + \frac{2 \sinh(ny)}{\pi n \sinh(nA)} \int_y^A \sinh(n(A - \xi)) \int_0^{\pi} F(x, \xi) \sin nx \, dx \, d\xi$$

$$b_n = \frac{2}{\pi n \sinh(nA)} \int_0^{\pi} \left\{ \sinh(n(y-A)) \int_0^y \sinh(n\xi) F(x, \xi) \, d\xi + \sinh(ny) \int_y^A \sinh(n(A-\xi)) F(x, \xi) \, d\xi \right\} \sin nx \, dx$$

$$u(x, y) = \sum_{n=1}^{\infty} b_n \sin nx$$

$$7. \begin{cases} u_{rr} + \frac{u_r}{r} + \frac{u_{\theta\theta}}{r^2} = -F(r, \theta) & r < R \\ u_r(R, \theta) = 0 \end{cases}$$

$$r u_{rr} + u_r + \frac{u_{\theta\theta}}{r} = -r F(r, \theta) = (r u_r)_r + \frac{1}{r} u_{\theta\theta}$$

$$F(r, \theta) \sim \frac{A_0(r)}{2} + \sum_{n=1}^{\infty} A_n(r) \cos n\theta + \sum_{n=1}^{\infty} B_n(r) \sin n\theta$$

$$u(r, \theta) = \frac{a_0(r)}{2} + \sum_{n=1}^{\infty} a_n(r) \cos n\theta + \sum_{n=1}^{\infty} b_n(r) \sin n\theta$$

$$r u_r = \frac{r a_0'}{2} + \sum_{n=1}^{\infty} r a_n' \cos n\theta + \sum_{n=1}^{\infty} r b_n' \sin n\theta$$

$$(r u_r)_r = \frac{(r a_0')_r}{2} + \sum_{n=1}^{\infty} (r a_n')_r \cos n\theta + \sum_{n=1}^{\infty} (r b_n')_r \sin n\theta$$

$$\frac{1}{r} u_{\theta\theta} = \sum_{n=1}^{\infty} -\frac{a_n}{r} \cos n\theta + \sum_{n=1}^{\infty} -\frac{b_n}{r} \sin n\theta$$

$$L(u) = \frac{(r a_0')_r}{2} + \sum_{n=1}^{\infty} [(r a_n')_r - \frac{n^2 a_n}{r}] \cos n\theta + \sum_{n=1}^{\infty} [(r b_n')_r - \frac{n^2 b_n}{r}] \sin n\theta$$

$$= -\frac{r A_0}{2} - \sum_{n=1}^{\infty} r A_n \cos n\theta - \sum_{n=1}^{\infty} r B_n \sin n\theta$$

$$(r a_0')_r = -r A_0 \quad a_0'(R) = 0$$

$$(r a_n')_r - \frac{n^2 a_n}{r} = -r A_n \quad a_n'(R) = 0 \quad a_n(r) \text{ bdd near } n=0$$

$$(r b_n')_r - \frac{n^2 b_n}{r} = -r B_n \quad b_n'(R) = 0 \quad b_n(r) \text{ bdd near } r=0$$

$$n \neq 1: \quad G_n' + r G_n'' - \frac{n^2 G_n}{r} = 0 \Rightarrow G = \text{span} \{r^{-n}, r^n\}$$

$$G_1 = C_1 r^n$$

$$G_2 = C_2 r^{n-1} - C_4 r^{-n-1}$$

$$C_3 R^{n-1} - C_4 R^{-n-1} = 0$$

$$\frac{C_3}{C_4} = R^{-2n} \Rightarrow G_2 = C_2 \left(\left(\frac{R}{r}\right)^n + \left(\frac{r}{R}\right)^n \right)$$

$$\partial_r G_1|_{r=R} = \partial_r G_2|_{r=R} \Rightarrow C_1 n \xi^{n-1} - C_2 \left(\frac{-nR^n}{\xi^{n+1}} + \frac{n\xi^{n-1}}{R^n} \right) = \frac{1}{\xi}$$

$$G_1(\xi, \xi) = G_2(\xi, \xi) \quad C_1 \xi^n - C_2 \left(\left(\frac{R}{\xi}\right)^n + \left(\frac{\xi}{R}\right)^n \right) = 0$$

$$\begin{bmatrix} n\xi^{n-1} & \frac{n}{\xi} \left[\left(\frac{R}{\xi}\right)^n - \left(\frac{\xi}{R}\right)^n \right] \\ \xi^n & - \left[\left(\frac{R}{\xi}\right)^n + \left(\frac{\xi}{R}\right)^n \right] \end{bmatrix} \begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \begin{bmatrix} \frac{1}{\xi} \\ 0 \end{bmatrix} \Rightarrow \begin{bmatrix} C_1 \\ C_2 \end{bmatrix} = \frac{1}{2nR^n} \begin{bmatrix} \left[\left(\frac{R}{\xi}\right)^n + \left(\frac{\xi}{R}\right)^n \right] \\ \xi^n \end{bmatrix}$$

$$a_n(r) = \frac{1}{2nR^n} \left\{ \left[\left(\frac{R}{r}\right)^n + \left(\frac{r}{R}\right)^n \right] \int_0^R \xi^{n+1} A_n(\xi) d\xi + r^n \int_r^R \left[\left(\frac{R}{\xi}\right)^n + \left(\frac{\xi}{R}\right)^n \right] \xi A_n(\xi) d\xi \right\}$$

$$b_n(r) = \frac{1}{2nR^n} \left\{ \left[\left(\frac{R}{r}\right)^n + \left(\frac{r}{R}\right)^n \right] \int_0^R \xi^{n+1} B_n(\xi) d\xi + r^n \int_r^R \left[\left(\frac{R}{\xi}\right)^n + \left(\frac{\xi}{R}\right)^n \right] \xi B_n(\xi) d\xi \right\}$$

$$(r a_0')_r = -r A_0$$

$$R a_0'(R) - r a_0'(r) = \int_r^R -\bar{r} A_0(\bar{r}) d\bar{r} \quad dv = \frac{1}{r} \quad u = \int A_0 \bar{r} \quad du =$$

$$-a_0'(r) = \frac{1}{r} \int_r^R \bar{r} A_0 d\bar{r} + \frac{1}{r} R a_0'(R) = \frac{1}{r} \int_0^R \bar{r} A_0 d\bar{r}$$

$$\iint_{\partial u} \nabla u \cdot n = 0 \Leftrightarrow \iint \Delta u = \iint F dA = \int_0^R \int_0^{2\pi} r \cdot F dr d\theta = 0 = 2\pi \int_0^R \frac{A_0}{2} r dr$$

$$a_0(r) = -\ln(r) \int_0^R A_0 \bar{r} d\bar{r} + \int_0^R A_0 \bar{r} \ln(\bar{r}) d\bar{r} - \int_0^r A_0 \bar{r} \ln\left(\frac{\bar{r}}{r}\right) d\bar{r} = q_0(r)$$

$$u(r, \theta) = \frac{q_0}{2} + \sum_{n=1}^{\infty} a_n \cos n\theta + \sum_{n=1}^{\infty} b_n \sin n\theta$$